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Solving with Column Vectors Exercise
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Given each of these vector equations, find the value of 𝑥.
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Given each of these vector equations, find the value of 𝑥 and 𝑦.
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3 [OCR GCSE (9-1) Nov 2018 6H Q20b]

Given that                                        

find the value of 𝑚 and the value of 𝑛. 
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Vector                 and vector 𝒑 =
3
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The vector 𝒓 is shown on the grid.

Given that 𝒓 = 𝑗𝒑 + 𝑘𝒒, find the values of 𝑗 and 𝑘.
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Find the value of 𝑘 so that

 𝑘 𝒂 − 𝒃 = 𝒄
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Find the values of 𝑘 and 𝑛 so that
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𝒂 and 𝒃 are vectors such that 
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Find 𝒃 as a column vector 

[Hint – Let 𝒃 = 𝑥
𝑦

]
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The point 6,4 , is translated to the point 

(166, 74) using two translations.

The first translation is by the vector ℎ
3

2

𝑘
4

−1
The second translation is by the vector 

Work out the values of ℎ and 𝑘. 

Given each of these vector equations, find the 

value of 𝑥 and 𝑦. 

What do you notice? 

Create some other systems that will have 

answers like these. 

Is there a formula? 𝑥
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